THRRAI A O#ETE (2012/5/31177E)

X% THX 4 5 = B HEH
FREHKX BLETHT 51 44 95 44
FRE#X L {chET 20 22 42 18
FHREHX {rhET 17 17 34 17
FREMX ABT—TH 11 13 24 11
FHREHX ABRTZTH 20 23 43 14
FRHE#X ABT=-mTH 24 26 50 27
FREHKX 3ET 29 37 66 31
FHE#X SHT 40 42 82 39
FHREHMX JCHT 45 77 122 51
FHE#X SLHT 37 42 79 40
FREHKX ZAHHET 18 18 36 16
FHE#X SEEMET 25 32 57 25
FHREHX T £ FHET 41 50 91 40
FRHEHKX L FHT 40 43 83 47
FHREHX JEHT 60 62 122 63
FRE#X LTEE 26 41 67 30
FREHKX FRAEET 18 29 47 27
FREMX fin E BT 77 88 165 72
FHREHX N 403 417 820 380
FRHE#HX THRE 140 136 276 117
FHREHX fEA 82 111 193 86
FRHEX fi E 791 882 1,673 660
FHREHX i 93 120 213 78
FRE#X B3 57 56 113 44
FHEX RBETRER 312 341 653 248
FHE#X FFRHET 361 478 839 319
FHREHX & AT 63 71 134 57
FRHEHKX L/ 481 507 988 322

FREMXE 3,382 3,825 7,207 2,923

HEHX AREETARZER 293 304 597 220
HERX KEP 120 122 242 82
M EHX opt:] 134 137 271 94
HWEHKX BRE 96 119 215 83
HEHX s 85 106 191 85
WEHX s 13 14 27 10
B XET 741 802 1,543 574

KiFHh X ] 496 576 1,072 438
KiFih X 0 3BT 208 261 469 193
KiFHh X BE 331 361 692 276
KiFih X KL 64 80 144 55
KiTihX EEEF 67 82 149 50
KT Hh X +t&Es 151 154 305 103
KT X ThaE 163 152 315 90
RiFh X R EET 141 164 305 118
KiFHh X 7MLF 177 184 361 156
KiFih X REBF 314 368 682 296
KT X FAEF 371 426 797 380
KiFih X AR 2 26 28 28
KiFHh X HEYNE 103 110 213 65
KiFih X HIVHLE 513 534 1,047 382
KT ih X 22LyE 542 568 1,110 325
K13 X G55 0NVFELY 3 11 14 14
RiEHh X Et 3,646 4,057 7,703 2,969
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THRXAIAO#tETE (2012/5/31377E)

X% THX 4 5 = B HEH
SfEHX FXRET1X 104 139 243 129
ITEHX FTRET2X 358 438 796 366
SfEHX FXRETIX 240 231 471 216
SL{EHX IMA{fEE—TH 241 330 571 259
e X MEEZTH 253 291 544 220
SLTEHEX MEBE=TH 575 571 1,146 414
STTEHEX IAEAEMTH 127 183 310 140
SL{EHX = THT 388 422 810 337
SI{EHX ) 269 309 578 238
ITEHX 2l d e 680 748 1,428 543
SfEHX FTRET R HhE 154 147 301 157

SfER X ET 3,389 3,809 7,198 3,019

KIIPHET P=E 69 84 153 52
KIINPHET INGR 66 84 150 55
KJIINET i 237 254 491 183
KINAHET L 51 49 100 43
KIIPET KINALL 99 111 210 74
KINAHET Napabil 73 83 156 59
KIIPHET = H 110 125 235 87
KINAHET 25 131 135 266 92
KIIPHET TE 246 258 504 196
KIIPHET RIS 30 62 92 92
KRINAETET 1,112 1,245 2,357 933

28T f=H 50 53 103 32
2187 P 28 35 63 18
28T Fi& 25 25 50 19
2)IET KEJ| 114 131 245 86
21187 By 52 60 112 44
21187 15E 184 183 367 134
28T INEI 98 103 201 72
=) bl 117 130 247 101
2JIET 218 45 43 88 40
21187 IR 66 79 145 52
28T AK 26 27 53 24
2187 - Eag 25 19 44 11
21187 A= 40 38 78 20
28T ZH 39 52 91 24
28T TEE 36 37 73 22
28T A 107 122 229 64
=1 HT RE 54 59 113 28
2187 BEFH 77 105 182 56
28T 2 ¥ i 343 245 588 268
2)1ET HEE 2 14 16 16
2 BTET 1,528 1,560 3,088 1,131
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THRXAIAO#tETE (2012/5/31377E)

X4 T4 5 = B HEH

K % 2 HT Kiz 112 112 224 65
K % 2 HET BES 10 11 21 11
K% EET GEii 113 115 228 71
K% EET HEFE 53 63 116 43
K% EET B 45 41 86 23
K % 2 HET TN 63 68 131 36
K% EET EEBIRE 48 42 90 22
K % 2 HET =e]il] 66 59 125 39
K% EET puipEs 56 65 121 42
K % EET g 102 114 216 63
i % 2 ET EE 76 60 136 42
K % 2 HET B8R 52 60 112 34
K % EET Pus 96 81 177 48
K % 2 HET H 360 381 741 250
%IRRT ET 1,252 1,272 2,524 789

BREL =gl 53 53 106 30
R S HT L 135 137 272 73
PR Z BT KINE 123 150 273 82
R Z HT INER 49 51 100 29
FER ZHT 8T 76 96 172 53
FER ZHT FFE L 154 163 317 89
FER ZHT [REE 166 173 339 95
FER ZHT HFH 214 226 440 147
R Z BT =i 60 73 133 36
R ZHT Bk 1 2 3 2
FER ZHT pN:i 49 54 103 32
R ZHT K& 74 76 150 48
FER ZHT mE 67 57 124 27
R ZHT a0 43 51 94 22
FR ZHT ER S 60 75 135 35
ZR:ELIES 1,324 1,437 2,761 800

KIJIET ' 154 189 343 132
KJIET A 57 58 115 54
KINET PRI 101 105 206 63
KJIET HF0O 108 110 218 57
KINET & 102 118 220 68
KJIET JIFg 105 105 210 69
KIIET HOAE 0 0 0 0
K JIET Eqne 158 176 334 103
KINET s 219 259 478 183
KJIET e 101 116 217 64
KIIET RHAX 51 54 105 34
KJIET JIR 87 104 191 66
KIINETET 1,243 1,394 2,637 893
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THRXAIAO#tETE (2012/5/31377E)

X4 T4 5 = i HEH
NI E%) 125 143 268 93
¥ ET L& 66 63 129 39
N T& 224 273 497 187
¥ ET T 84 92 176 67
NTL 7%= 37 50 87 33
T EiR 61 75 136 46
N o 90 85 175 59
T I 117 122 239 76
N ABRK 37 33 70 27
T =V 99 122 221 82
KA ET 5 102 114 216 71
T = oB::] 102 103 205 71
N o)l 62 55 117 41

FAHETET 1,206 1,330 2,536 892

—EHr B/I\AH 764 836 1,600 674
Z B A\ 55 247 263 510 206
—EHr JNE 782 857 1,639 673
21 KE 549 537 1,086 399
—EHr s 107 108 215 103
Z B ADE5 109 132 241 93
—EHr R 177 241 418 175
Z—EBHr EHF 94 110 204 80
—BHr f H 65 85 150 62
ZEBH Lo 51 57 108 42
—BH A 60 68 128 48
ZEBH haF 40 43 83 38
ZBETEt 3,045 3,337 6,382 2,593

B ET g 556 616 1,172 458
BILACHET f=2#0 71 60 131 55
HILCHET Rk 1,023 1,041 2,064 807
BILACET BHE 74 65 139 46
BILACET X fH 87 87 174 74
BILACET ko 186 199 385 138
B ET SEIA 157 178 335 127
BILACET HAAR 103 104 207 84
BILACET RAR 209 221 430 164
BILACET e 170 201 371 161
BILACET ER 66 85 151 68
BILACHET T& 11 11 22 8
BILACET E)IN 102 97 199 84
B ILACHET TnE 8 10 18 10
BILACET 2 E:; 95 98 193 64
HILCHET BB 10 4 14 5
BILCHETET 2,928 3,077 6,005 2,353
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THRXAIAO#tETE (2012/5/31377E)

X% THX 4 5 = i HEH
LA ET RAE 260 296 556 246
L ET WA 468 492 960 397
L ACHET =INA 62 70 132 52
AT b4 84 91 175 65
LIt BT 23 58 54 112 47
L ET Ba 139 156 295 141
LT AR—RX 258 258 516 198
L ET ABR_K 360 420 780 327
LT AR=ZR 124 139 263 112
L ET S 176 196 372 170
LT NN 112 129 241 124
L ET s 121 119 240 96
L4 ET B[ 110 142 252 133
L ET [ikz) 135 126 261 88
L ACHET BRAR 39 38 77 32
L ET ¥7 2 58 50 48 98 28
LA ET E%) 64 65 129 47

(BT ET 2,620 2,839 5,459 2,303
T 27416 29984 57400 22,172
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